
個 體 經 濟 學 二 
                 M i c r o e c o n o m i c s  (II) 

 
 
1. There is only one producer. 
2. no entry in the long run. 
3. Buyers are price takers 
  max profits = px - C(X) 
 
 
   p(x) ---- market inverse demand curve. 
   π(x)=TR(x) - TC(x) 
      =P(x)•x - C(x) 
 
 

 ex > 1    dTE/dPx< 0 

                                    ex = 1    dTE/dPx= 0 
                                    ex< 1    dTE/dPx> 0 

Ｆigure 105: 

 

 

CH13  Monopoly 

Not a constant 

downward  sloping 



TR(x) = P(x)•x 
AR(x) = TR(x) / x = P(x) ↓ with x 
TR(0) = 0 
TR(x)   concave 

x ↑ , P(x) = AR ↓        

TR = P(x)↓ • x↑ 

P↓ < X↑     TR↑ 

% change in P < % change in X     εp> 1 

X↑ < P↓     TR↓  εp< 1 

 

 

Ｆigure 106: 

 
Ｆigure 107: 



MR(X) = d TR(X) / d X 

 
Ｆigure 108: 

 
TR(X)  concave     MR(X)↓with x 
TR''(X) < 0          MR'(X) < 0 
εp> 1           MR(X)> 0 
εp = 1           MR(X) = 0 
εp< 1           MR(X) < 0 
 
 
＊Special case                            

 
Ｆigure 109: 



x = A / P 
             P(X)．X = A 

or  P(x) = A / X     
εp = 1 at all x 

TR(X) = A at all x fixed.  水平線 

MR(X) = 0           AR 遞減 

 

＊ Monopolist Problem 

   π(x) = P(x)．x - C(x) = TR(x) -π(x) 

Foc. MR(x) = MC(x) 

   P = AR(x) ≠ MR(x) 

   MR(x) < AR(x) = P(x)         AR↓ with x     MR < AR 

                              P(x) = AR(x) > MR(x) = MC(x) in equilibrium 

   MR(x) = d TR(x) / d x 

         = d (P(X)．X) / d x 

         = P(x) + x(d (P(X)) / d x)       

         =P(x) (1+ x
P(x)

× dP (X)
dx

)         

         =P(x) (1 - 1
εP

)               

in equilibrium , 

P(x)(1 - 1
εP

) = MC(x) 

εP > 0 ⇒ MR(x) < P(x) = AR(x) 

 

Soc.  π′′(x) < 0 

  π(x) = TR − TC 

    π′(x) = MR − MC 



       π′′ (x) = MR′(x) − MC′(x) < 0 ⇒ MR′(x) < MC′(x)  

(MR’(x)= 0 in perfect competition) 

                                        

Since MR(x)    with X      MR′(x) < 0 

MC′(x) > 0  ok 

MC′(x) < 0  needs  MC′(x) >  MR′(x) 

 

Since MR = MC in equilibrium 

MC > 0 ⇒ MR > 0 in equilibrium 

⇒ ε𝑝𝑝 > 1 

monopoly equilibrium output = 𝑋𝑋𝑚𝑚  

market demand curve at 𝑋𝑋𝑚𝑚 is elastic 

 

 

 

 

 

 

 

 

 

 

 

 

 



＊ Monopoly Equilibrium 

   market demand curve = monopoly’s demand curve = 𝐀𝐀𝐀𝐀(𝐱𝐱) 

MR =   p (1 −  
1
εP

) = MC 

SR.  P(x) ≥ AVC(x) 

LR.  P(x) ≥ LRAC(x) 

 

 

Ｆigure 110: 

 

Ｆigure 111:More on perfcet competition 



＊Consumer equilibrium 

   MRSxy =  
Px

Py
 

   Good X , Good Y ∶ other goods  y : expenditure on other goods, Py = 1 

  MRSxy =  
Mux

Muy
   

Mu y =1
�⎯⎯⎯�   Mux =  Px  

 

＊In perfect competition : 𝐏𝐏 = 𝐌𝐌𝐌𝐌 = 𝐀𝐀𝐀𝐀 = 𝐌𝐌𝐌𝐌 = 𝐀𝐀𝐀𝐀  (in the LR) 

  TS = CS + PS    at e ,  TS is maximized 

 

Ｆigure 112: 

 

 

 

 

 

 

 



TS at X1      TS at Xs which is maximized 

        P1
d =   Mux(x1) 

        P∗ =  Ps 

         P1
s = MCx(x1) 

 

Ｆigure 113: 

 

＊ Price Control 

   price ceiling(價格上限)  vs.  price floor(價格下限、保證價格) 

 

Ｆigure 114: 



＊without price ceiling                          with price ceiling 

  CS at e = A+D                                CS at ec = A + B 

  PS at e = B+C+E                              PS at ec = C 

  TS = A+B+C+D+E                             TS = A+B+C 

                                          deadweight loss = D+E 

 

＊Shortage       Black Market 

 

Ｆigure 115: 

      PB ∶ equilibrium price in the black market. 

               XB −  XC = quantity traded in the black market 

               MRTSLK =  
ε
ρ(Lρ+Kρ )

ε
ρ−1

×ρLρ−1

ε
ρ(Lρ+Kρ )

ε
ρ−1

×ρKρ−1
  = (K

L
)1−ρ 

               ln MRTSLK =  ln �K
L
�

1−ρ
= (1 − ρ) ln K

L
 



               
     d ln MRTSLK

d ln(K
L)

= 1 −  ρ 

               σ =  
1

1 − ρ
⇒ ρ = 0 ,σ = 1  cobb − Douglas 

                                         ρ → 1,σ →  ∞ perfect substitute 


